Dividing Decimals By 10, 100 or 1000
Part 1
Answer the following questions.

(a) 59 +10= (k) 11+10=

(b) 63 = 1000 = () 95.9+100=
(c) 59 =100 = (m) 647.7 =100 =
(d) 108 +10 = (n) 0.85+10=
(e) 351 =1000 = (o) 7653 1000 =
(f) 0.02 +100 = (p) 8.1+100=
(g) 2 =100 = (@9 499-10=
(h) 841.05 = 100 = (r) 1.37+1000 =
(i) 67.03+10= (s) 50.8-=10=
(j) 8 +1000 = () 3.3+100=
Part 2

Which of 10, 100 or 1000 goes in the box?

(b) 7= =07 f) 7.2+ = 0.072
(c) 31-= = 3.1 () 05- = 0.005
(d) 894 - = 8.94

Part 3

Dianne measured the thickness of 1000 sheets of paper as 264mm.
How thick is each sheet?



